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DEis a midsegment of A\ ABC. Find the value of x.
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in AJKL, JR = RK , K8 = SL, and JT7 = TL. Copy and complete.
the statement. :
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Use AWXY, Where R, &, and T are midpoints of the sides.
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If 7Y = 4, then RS = _‘Z,_(\I*D R 5

IfRT =7, then XV = _7
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Use the diagram of A ABC where D, E, and F are the midpoints AL = Q{fﬁﬁv)
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6. IfDF =3.5x + 6 and BC = 3x + 36, then/DF = -
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Find the unknown coordinates of the points in the figure. B( 3{” F}} s {% %L'i>
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in Exercises 10 and 11, write a coordinate proef.

10. GIVEN: Coordinates of ADEF
G 1s the midpoint of DE.
+ H is the midpoint of EF
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11. GIVEN: DB bisects £ ABC. - .
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12. RoofTrusses An attic truss provides
storage space within the roof of a house.
The midsegment of the truss is the ceiling
of the storage space. If the base of the truss
is 30 feet, find the width x of the storage

space. Explain. -
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1. Suppose AABC is isosceles with a perimeter of 24 inches. If a midsegment of

AABC s 5 inches, find the posmbie }engths of the mdeigj the tnangle \/(}y ‘;Wf u fguf b Gas wge
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2. Inthe diagram, A4 i8 located at (0, 0, i B DF - é

G is located at (5, 4}, and [/ is located

at (8, 4). Find the coordinates of B, C,
D, E, F, and H. Assume that D, E, F,

G, H, and [ are midpoints.
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